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E>EG4<EF>=, M=4>>D<==>=, 4OE4F5?L=>=, 

?<M564D<F5?L=>= < <>G5?>?>6>= E<EF5<, 4?O 

6OO6?5=<O >E=>6=OE >?<=<G5E><E ?D>O6?5=<=, 

E?>E>5=OE 6O764FL FO65?O5 >E?>6=5=<O < 

(<?<) ?5F4?L=O= <EE>4. 

�D>6>4<FL 4<DD5D5=F<4?L=GN 4<47=>EF<>G 

745>?564=<= G ?4F<5=F>6 E E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) E>EF>O=<O<<, <E?>?L7GO 

4?7>D<F< ?>EF4=>6>< 4<47=>74 (>E=>6=>7>, 

E>?GFEF6GNM57> < >E?>6=5=<=) E GG5F>< ���. 

�F5=<64FL =4 >E=>64=<< >?<=<G5E><E, 

5<>E<<<G5E><E < DG=>F<>=4?L=OE <5F>4>6 

<EE?54>64=<O E>EF>O=<5 ?4F<5=F>6 E 

E<DGD7<G5E><<< 745>?564=<O<< < (<?<) 

E>EF>O=<O<<, FD55GNM<E =G644NM<EEO 6 

FD4=E?>DF<D>6>5 6 E?5F<4?<7<D>64==>5 

>F45?5=<5 < (<?<) 6O?>?=5=<< >?5D4F<6=>7> 

6<5L4F5?LEF64. 

�F5=<64FL E>EF>O=<5 ?4F<5=F>6 E 

E<DGD7<G5E><<< 745>?564=<O<< < (<?<) 

E>EF>O=<O<< < 6O45?OFL 654GM<5 E<=4D><O G 

?4F<5=F>6, 6 F>< G<E?5 =4E>4OM<EEO 6 

F5D<<=4?L=>< < FO65?>< E>EF>O=<<, < 

?D<=<<4FL =5>5E>4<<O5 <5DO 4?O 6O6545=<O 

<E <7 MF>7> E>EF>O=<O. 

�?445FL:  
�46O>>< =4?D46?5=<O ?4F<5=F>6 E 

E<DGD7<G5E><<< 745>?564=<O<< < (<?<) 

E>EF>O=<O<< =4 ?45>D4F>D=>5 >5E?54>64=<5 6 

E>>F65FEF6<< E 45=EF6GNM<<< ?>DO4>4<< 

>>474=<O <54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<< (?D>F>>>?4<< ?5G5=<O) ?> 

6>?D>E4< >>474=<O <54<F<=E>>= ?><>M<, E 

GG5F>< EF4=44DF>6 <54<F<=E>>= ?><>M<. 

�46O>>< =4?D46?5=<O ?4F<5=F>6 E 
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E<DGD7<G5E><<< 745>?564=<O<< < (<?<) 

E>EF>O=<O<< =4 <=EFDG<5=F4?L=>5 

>5E?54>64=<5 6 E>>F65FEF6<< E 45=EF6GNM<<< 

?>DO4>4<< >>474=<O <54<F<=E>>= ?><>M<, 

>?<=<G5E><<< D5>><5=44F<O<< (?D>F>>>?4<< 

?5G5=<O) ?> 6>?D>E4< >>474=<O <54<F<=E>>= 

?><>M<, E GG5F>< EF4=44DF>6 <54<F<=E>>= 

?><>M<. 

�46O>>< <=F5D?D5F4F<< D57G?LF4F>6 >E<>FD>6, 

?45>D4F>D=OE < <=EFDG<5=F4?L=OE 

<EE?54>64=<= ?4F<5=F>6 E E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) E>EF>O=<O<<. 

�46O>>< GEF4=>6?5=<O 4<47=>74 E GG5F>< 
45=EF6GNM5= �564G=4D>4=>= EF4F<EF<G5E>>= 
>?4EE<D<>4F<< 5>?57=5= < ?D>5?5<, E6O74==OE 
E> 74>D>6L5< (44?55 - ���). 

��-6 3  
7>F>6=>EFL > 6545=<N 
< ?5G5=<N ?4F<5=F>6, 
=G644NM<EEO 6 
>>474=<< 
E<DGD7<G5E>>= 
<54<F<=E>>= ?><>M< 

�>E?54GNM<= �=4FL:  
�D<=F<?O < <5F>4O >5575>?<64=<O ?4F<5=F>6 

6 E>>F65FEF6<< E 45=EF6GNM<<< ?>DO4>4<< 

>>474=<O <54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<< (?D>F>>>?4<< ?5G5=<O) ?> 

6>?D>E4< >>474=<O <54<F<=E>>= ?><>M<, E 

GG5F>< EF4=44DF>6 <54<F<=E>>= ?><>M<. 

�5E4=<7< 45=EF6<O ?5>4DEF65==OE ?D5?4D4F>6, 

<54<F<=E><E <745?<= < ?5G55=>7> ?<F4=<O, 

?D<<5=O5<OE ?D< E<DGD7<G5E><E 745>?564=<OE 

< (<?<) E>EF>O=<OE; <54<F<=E><5 ?>>474=<O < 

<54<F<=E><5 ?D>F<6>?>>474=<O > =47=4G5=<N; 

6>7<>6=O5 >E?>6=5=<O, ?>5>G=O5 45=EF6<O, 

=565?4F5?L=O5 D54>F<<, 6 F>< G<E?5 E5DL57=O5 

< =5?D546<45==O5. 

�54<F<=E><5 ?>>474=<O < <54<F<=E><5 

?D>F<6>?>>474=<O > >?5D4F<6=><G ?5G5=<N 

?4F<5=F>6 E E<DGD7<G5E><<< 745>?564=<O<< < 

(<?<) E>EF>O=<O<< 6 E>>F65FEF6<< E 

45=EF6GNM<<< ?>DO4>4<< >>474=<O 

<54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<< (?D>F>>>?4<< ?5G5=<O) ?> 

6>?D>E4< >>474=<O <54<F<=E>>= ?><>M<, E 

GG5F>< EF4=44DF>6 <54<F<=E>>= ?><>M<. 

%<DGD7<G5E><= <=EFDG<5=F4D<=, ?D<<5=O5<O= 

?D< D47?<G=OE E<DGD7<G5E><E >?5D4F<OE. 

�5E4=<7< 45=EF6<O >E=>6=OE 7DG?? 

?5>4DEF65==OE 65M5EF6; <54<F<=E><5 

?>>474=<O < <54<F<=E><5 ?D>F<6>?>>474=<O > 

<E ?D<<5=5=<N; >E?>6=5=<O, 6O764==O5 <E 

?D<<5=5=<5<. 

�E=>6O D5=F75=>?>7<<, D44<>?>7<<, 

M=4>E>>?<<, G?LFD476G>>6>= 4<47=>EF<>< G 

?4F<5=F>6 E E<DGD7<G5E><<< 745>?564=<O<< < 

(<?<) E>EF>O=<O<<. 

�?5D4F<6=GN E<DGD7<N >E=>6=OE >5?4EF5= 
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F5?4 (7>?>6O, L5<, 7DG4=>= >?5F><, ?5D54=5= 

5DNL=>= EF5=>< < 5DNL=>= ?>?>EF<, 65DE=<E 

< =<6=<E >>=5G=>EF5=). 

�E=>6O <<<G=>?>7<<, <<>D>5<>?>7<<. 

�D<=F<?O ?>47>F>6>< > >?5D4F<< < 6545=<O 

?>E?5>?5D4F<>==>7> ?5D<>44 ?4F<5=F>6 E 

E<DGD7<G5E><<< 745>?564=<O<< < (<?<) 

E>EF>O=<O<< 6 E>>F65FEF6<< E 45=EF6GNM<<< 

?>DO4>4<< >>474=<O <54<F<=E>>= ?><>M<, 

>?<=<G5E><<< D5>><5=44F<O<< (?D>F>>>?4<< 

?5G5=<O) ?> 6>?D>E4< >>474=<O <54<F<=E>>= 

?><>M<, E GG5F>< EF4=44DF>6 <54<F<=E>>= 

?><>M<. 

%4D4>F5D<EF<>< E>6D5<5==OE L>6=OE 

<4F5D<4?>6 < 64D<4=FO <E ?D<<5=5=<O 6 

E<DGD7<< 6 746<E<<>EF< >F >E=>6=OE 

E4D4>F5D<EF<> (>E>55==>EF< <7?O, >E>55==>EF< 

<4F5D<4?4, ED>>< D4EE4EO64=<O) 6 E>>F65FEF6<< 

E 45=EF6GNM<<< ?>DO4>4<< >>474=<O 

<54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<< (?D>F>>>?4<< ?5G5=<O) ?> 

6>?D>E4< >>474=<O <54<F<=E>>= ?><>M<, E 

GG5F>< EF4=44DF>6 <54<F<=E>>= ?><>M<. 

%4D4>F5D<EF<>< E>6D5<5==OE E5FG4FOE 

M=4>?D>F57>6 < >E>55==>EF< <E ?D<<5=5=<O 6 

E>>F65FEF6<< E 45=EF6GNM<<< ?>DO4>4<< 

>>474=<O <54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<< (?D>F>>>?4<< ?5G5=<O) ?> 

6>?D>E4< >>474=<O <54<F<=E>>= ?><>M<, E 

GG5F>< EF4=44DF>6 <54<F<=E>>= ?><>M<. 

&5E=<>G E<DGD7<G5E><E 6<5L4F5?LEF6 < 

?5G55=OE <4=<?G?OF<= ?D< E<DGD7<G5E><E 

745>?564=<OE < (<?<) E>EF>O=<OE: 

- ?4?4D>E>>?<G5E>4O E>?5F<EF>EF><<O; 

- E>?5F<EFM>F><<O ?4?4D>E>>?<G5E>4O; 

- ?4?4D>E>>?<G5E>4O D5=5EFD4F<O ><EF ?5G5=<; 

- ?4?4D>E>>?<G5E>>5 =4?>65=<5 

5<?<>4<75EF<6=>7> 4=4EF><>74; 

- ?4?4D>E>>?<G5E>4O >D4564O (4F<?<G=4O) 

D575>F<O ?5G5=<; 

- ?4?4D>E>>?<G5E>4O 5<E57<5=FM>F><<O ?5G5=<; 

- ?4?4D>E>>?<G5E>>5 <EE5G5=<5 ><EF ?5G5=<; 

- ?4?4D>E>>?<G5E>4O 75<<75?4FM>F><<O; 

- ?4?4D>E>>?<G5E>4O 4<EF4?L=4O D575>F<O 

?>465?G4>G=>= 65?57O; 

- ?4?4D>E>>?<G5E>4O 74EFD>EF><<O; 

- ?4?4D>E>>?<G5E><= 74EFD>M=F5D>4=4EF><>7; 

- ?4?4D>E>>?<G5E>>5 FD4=E74EFD4?L=>5 

G44?5=<5 >?GE>?5= 65?G4>4; 

- ?4?4D>E>>?<G5E>4O D575>F<O F>?EF>= ><L><; 

- ?4?4D>E>>?<G5E>>5 G44?5=<5 =>6>>5D47>64=<O 

F>?EF>= ><L><; 
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- ?4?4D>E>>?<G5E>4O >>?M>F><<O E 5DNL=>-

4=4?L=>= D575>F<5= ?DO<>= ><L><; 

- ?4?4D>E>>?<G5E>4O >>?M>F><<O E 

M>EF<D?4F<5= ?DO<>= ><L><; 

- ?4?4D>E>>?<G5E>4O >>?M>F><<O E 

D>D<<D>64=<5< <?5>D5>F4?L=>7> 4=4EF><>74; 

- ?4?4D>E>>?<G5E>4O EG5F>F4?L=4O D575>F<O 

>5>4>G=>= ><L>< E D>D<<D>64=<5< 

4EF5=4>D5>F4?L=>7> 4=4EF><>74; 

- ?4?4D>E>>?<G5E>4O EG5F>F4?L=4O D575>F<O 

>5>4>G=>= ><L>< E 5DNL=>-4=4?L=>= 

D575>F<5= ?DO<>= ><L>< < =<76545=<5< 

?D46OE >F45?>6 >5>4>G=>= ><L>< 6 4=4?L=O= 

>4=4?; 

- ?4?4D>E>>?<G5E>4O ??4EF<>4 ?5D54=5= 

5DNL=>= EF5=>< ?D< 7DO64E; 

- ?4?4D>F><<O; 

- ?4?4D>E>>?<G5E>>5 4D5=<D>64=<5 5DNL=>= 

?>?>EF<; 

- ?4?4D>E>>?<G5E>>5 G44?5=<5 <=>D>4=OE F5? 6 

5DNL=>= ?>?>EF<; 

- ?4?4D>E>>?<G5E>>5 G44?5=<5 

=>6>>5D47>64=<= 5DNL=>= ?>?>EF< < 

745DNL<==>7> ?D>EFD4=EF64; 

- ?4?4D>EF><<O. 

'<5FL:  
�47=4G4FL ?5>4DEF65==O5 ?D5?4D4FO, 

<54<F<=E><5 <745?<O < ?5G55=>5 ?<F4=<5 

?4F<5=F4< E E<DGD7<G5E><<< 745>?564=<O<< < 

(<?<) E>EF>O=<O<< E GG5F>< >?<=<G5E>>= 

>4DF<=O 745>?564=<O 6 E>>F65FEF6<< E 

45=EF6GNM<<< ?>DO4>4<< >>474=<O 

<54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<< (?D>F>>>?4<< ?5G5=<O) ?> 

6>?D>E4< >>474=<O <54<F<=E>>= ?><>M<, E 

GG5F>< EF4=44DF>6 <54<F<=E>>= ?><>M<. 

�F5=<64FL MDD5>F<6=>EFL < 557>?4E=>EFL 

?D<<5=5=<O ?5>4DEF65==OE ?D5?4D4F>6, 

<54<F<=E><E <745?<= < ?5G55=>7> ?<F4=<O G 

?4F<5=F>6 E E<DGD7<G5E><<< 745>?564=<O<< < 

(<?<) E>EF>O=<O<<. 

�F5=<64FL MDD5>F<6=>EFL < 557>?4E=>EFL 

=5<54<>4<5=F>7=>7> ?5G5=<O ?4F<5=F>6 E 

E<DGD7<G5E><<< 745>?564=<O<< < (<?<) 

E>EF>O=<O<<. 

�?D545?OFL <54<F<=E><5 ?>>474=<O < 

<54<F<=E><5 ?D>F<6>?>>474=<O 4?O 

E<DGD7<G5E><E 6<5L4F5?LEF6, ?5G55=OE 

<4=<?G?OF<=. 

�EGM5EF6?OFL =4?D46?5=<5 ?4F<5=F>6 E 

E<DGD7<G5E><<< 745>?564=<O<< < (<?<) 

E>EF>O=<O<< 6 ?5D6<G=O= >=>>?>7<G5E><= 
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>45<=5F (>F45?5=<5) 4?O >>474=<O 5<G 

?5D6<G=>= <54<>>-E4=<F4D=>= ?><>M< ?> 

?D>D<?N ">=>>?>7<O" 6 E>>F65FEF6<< E 

?>DO4>>< >>474=<O <54<F<=E>>= ?><>M< ?> 

?D>D<?N ">=>>?>7<O" 6 E?GG45 ?>4>7D5=<O <?< 

6OO6?5=<O >=>>?>7<G5E>>7> 745>?564=<O ?D< 

>>474=<< <54<F<=E>>= ?><>M< 67D>E?><G 

=4E5?5=<N ?> ?D>D<?N "E<DGD7<O". 

�?D545?OFL 7DG??G >D>6<, ?D>6>4<FL ?D>5O =4 

E>6<5EF<<>EFL < 6O?>?=OFL 6=GFD<65==>5 

?5D5?<64=<5 >D>6< < 55 >><?>=5=F>6, 6OO6?OFL 

6>7<>6=O5 FD4=EDG7<>==O5 D54>F<< < 

>E?>6=5=<O < ?D>6>4<FL 5>DL5G E =<<<. 

�5>E=>6O64FL 6O5>D >?F<<4?L=>7> <5F>44 

E<DGD7<G5E>>7> 6<5L4F5?LEF64 G ?4F<5=F>6 E 

E<DGD7<G5E><<< 745>?564=<O<< < (<?<) 

E>EF>O=<O<< E GG5F>< >?<=<G5E>>= >4DF<=O 

745>?564=<O < 6 E>>F65FEF6<< E 45=EF6GNM<<< 

?>DO4>4<< >>474=<O <54<F<=E>>= ?><>M<, 

>?<=<G5E><<< D5>><5=44F<O<< (?D>F>>>?4<< 

?5G5=<O) ?> 6>?D>E4< >>474=<O <54<F<=E>>= 

?><>M<, E GG5F>< EF4=44DF>6 <54<F<=E>>= 

?><>M<. 

�5>E=>6O64FL <5F>4<>G >5575>?<64=<O ?D< 

6O?>?=5=<< E<DGD7<G5E><E 6<5L4F5?LEF6. 

$45>F4FL 6 E>EF465 >?5D4F<>==>= 5D<744O 6 

>4G5EF65 4EE<EF5=F4. 

�O?>?=OFL >E=>6=O5 E<DGD7<G5E><5 

6<5L4F5?LEF64 < ?5G55=O5 <4=<?G?OF<< G5D57 

6E5 >E=>6=O5 6<4O E<DGD7<G5E><E 4>EFG?>6 

(D47D57, ?D>>>?, E6<M56>= >4=4?) E ?><>MLN 

?DO<>7> >F>DOF>7> <4=<?G?<D>64=<O, 

=46<74F<<, M=4>E>>?<<: 

- 4D5=<D>64=<5 ><EF, 45EF5EE4 ?5G5=< E 

<E?>?L7>64=<5< 6<45>M=4>E>>?<G5E><E 

F5E=>?>7<=; 

- ?4?4D>E>>?<G5E>>5 4D5=<D>64=<5 5DNL=>= 

?>?>EF<; 

- 6E>DOF<5 < 4D5=<D>64=<5 6=GFD<5DNL=>= 

D?57<>=O, 45EF5EE4; 

- 6E>DOF<5 75<4F><O <O7><E F>4=5=; 

- ?4?4D>E>>?<O 4<47=>EF<G5E>4O; 

- 6E>DOF<5 < 4D5=<D>64=<5 D?57<>=O 

(45EF5EE4); 

- ?4?4D>F><<O; 

- ?G=>F<O 7=>==>7> >G474; 

- ?G=>F<O E<=>6<4?L=>= EG<>< EGEF464; 

- ?G=>F<O <O7><E F>4=5=; 

- ?G=>F<O ?5D<>4D44. 

�?445FL:  
�46O>>< =47=4G5=<O ?5>4DEF65==OE 

?D5?4D4F>6, <54<F<=E><E <745?<= < ?5G55=>7> 
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?<F4=<O ?4F<5=F4< E E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) E>EF>O=<O<< 6 

E>>F65FEF6<< E 45=EF6GNM<<< ?>DO4>4<< 

>>474=<O <54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<< (?D>F>>>?4<< ?5G5=<O) ?> 

6>?D>E4< >>474=<O <54<F<=E>>= ?><>M<, E 

GG5F>< EF4=44DF>6 <54<F<=E>>= ?><>M<. 

�46O>>< =47=4G5=<O =5<54<>4<5=F>7=>7> 

?5G5=<O: D<7<>F5D4?56F<G5E><E <5F>4>6, 

?5G55=>= D<7>G?LFGDO < <=OE <5F>4>6 F5D4?<< 

?4F<5=F4< E E<DGD7<G5E><<< 745>?564=<O<< < 

(<?<) E>EF>O=<O<< 6 E>>F65FEF6<< E 

45=EF6GNM<<< ?>DO4>4<< >>474=<O 

<54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<< (?D>F>>>?4<< ?5G5=<O) ?> 

6>?D>E4< >>474=<O <54<F<=E>>= ?><>M<, E 

GG5F>< EF4=44DF>6 <54<F<=E>>= ?><>M<. 

�46O>>< >F5=>< MDD5>F<6=>EF< < 

557>?4E=>EF< ?D<<5=5=<O ?5>4DEF65==OE 

?D5?4D4F>6, <54<F<=E><E <745?<= < ?5G55=>7> 

?<F4=<O G ?4F<5=F>6 E E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) E>EF>O=<O<<. 

�46O>>< >F5=>< MDD5>F<6=>EF< < 

557>?4E=>EF< =5<54<>4<5=F>7=>7> ?5G5=<O 

?4F<5=F>6 E E<DGD7<G5E><<< 745>?564=<O<< < 

(<?<) E>EF>O=<O<< 

�46O>>< ?D<<5=5=<O <54<F<=E><E <745?<= < 

?5>4DEF65==OE ?D5?4D4F>6 6 E>>F65FEF6<< E 

45=EF6GNM<<< ?>DO4>4<< >>474=<O 

<54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<<, E GG5F>< EF4=44DF>6 

<54<F<=E>>= ?><>M<. 

�46O>>< =45?N45=<O, >>=FD>?O E>EF>O=<O 

?4F<5=F>6 E E<DGD7<G5E><<< 745>?564=<O<< < 

(<?<) E>EF>O=<O<< 

�46O>>< 6O?>?=5=<O <54<F<=E><E 

6<5L4F5?LEF6, 6 F>< G<E?5 E<DGD7<G5E><E, 

?4F<5=F4< E E<DGD7<G5E><<< 745>?564=<O<< < 

(<?<) E>EF>O=<O<< 6 E>>F65FEF6<< E 

45=EF6GNM<<< ?>DO4>4<< >>474=<O 

<54<F<=E>>= ?><>M<, >?<=<G5E><<< 

D5>><5=44F<O<<, E GG5F>< EF4=44DF>6 

<54<F<=E>>= ?><>M<. 

�46O>>< =4?D46?5=<O ?4F<5=F>6 E 

E<DGD7<G5E><<< 745>?564=<O<< < (<?<) 

E>EF>O=<O<< 4?O >>474=<O <54<F<=E>>= 

?><>M< 6 EF4F<>=4D=OE GE?>6<OE <?< 6 
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>>=FD>?O >4G5EF64 < 557>?4E=>EF< <54<F<=E>>= 

45OF5?L=>EF<. 
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>5D47>64=<O. 
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>55E?5G<645F >E6>5=<5 6O?GE>=<>>< ?D>D5EE<>=4?L=OE >><?5F5=F<= E GG5F>< 

>>=>D5F=>7> 6<44 (6<4>6) 45OF5?L=>EF< 6 D47?<G=OE <54<F<=E><E >D74=<74F<OE (?D<>47 
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?>?<>?<=<>< 7>EG44DEF65==>= < <G=<F<?4?L=>= E<EF5< 74D46>>ED4=5=<O; F5=FDO, 4 

F4>65 E?5F<4?<7<D>64==O5 F5=FDO 7>EG44DEF65==>= < <G=<F<?4?L=>= E<EF5< 

74D46>>ED4=5=<O, 6 F>< G<E?5 <=>7>?D>D<?L=O5, E?5F<4?<7<D>64==O5 (?> ?D>D<?N);  

F5=FDO >5M5EF65==>7> 74>D>6LO < <54<F<=E>>= ?D>D<?4>F<><; 

- 4<47=>EF<G5E>4O 45OF5?L=>EFL: 5>?L=<FO; E?5F<4?<7<D>64==O5 5>?L=<FO (6 F>< G<E?5 

?> ?D>D<?N <54<F<=E>>= ?><>M<), 4 F4>65 E?5F<4?<7<D>64==O5 5>?L=<FO 
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5, ��-6, ��-11), 4=5EF57<>?>7<O-D54=<<4F>?>7<O ('�-1, ��-5, ��-6), >?<=<G5E>4O 
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?>4 =45?N45=<5< 6D4G4, 

6O?>?=<FL E4<>EF>OF5?L=>) 6 

>EGM5EF6?5=<< ?5447>7<G5E>>= 
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45OF5?L=>EFL ?> ?D>7D4<<4< 
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<E?>?L7>64=<5< E>6D5<5==OE 

>5D47>64F5?L=OE F5E=>?>7<=, 

6>?NG4O M?5>FD>==>5 < 

4<EF4=F<>==>5 >5D47>64=<5. 



16 

 

 

 

�D<=<<4FL GG4EF<5, 

(6O?>?=OFL ?>4 =45?N45=<5< 

6D4G4, 6O?>?=<FL 

E4<>EF>OF5?L=>) 6 >?D545?5=<< 

<54<F<=E><E ?>>474=<= > 

66545=<N >7D4=<G<F5?L=OE 

<5D>?D<OF<= (>4D4=F<=4) < 

<54<F<=E><5 ?>>474=<O 4?O 

=4?D46?5=<O > 6D4GG-

E?5F<4?<EFG 6 E?GG45 

<=D5>F<>==>7> (?4D47<F4D=>7> 

745>?564=<O). 

 

�D<=<<4FL GG4EF<5, 

(6O?>?=OFL ?>4 =45?N45=<5< 

6D4G4, 6O?>?=<FL 

E4<>EF>OF5?L=>) 6 E5>D5 

64?>5, 4=4<=574 6<7=< < 

745>?564=<O G ?4F<5=F>6 (<E 

74>>==OE ?D54EF46<F5?5=) E 

E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) 

E>EF>O=<O<<. 

 

 �D<=<<4FL GG4EF<5, 

(6O?>?=OFL ?>4 =45?N45=<5< 

6D4G4, 6O?>?=<FL 

E4<>EF>OF5?L=>) 6 

<=F5D?D5F4F<< < 4=4?<75 

?>?GG5==>= <=D>D<4F<< >F 

?4F<5=F>6 (<E 74>>==OE 

?D54EF46<F5?5=) E 

E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) 

E>EF>O=<O<<. 

 

 �D<=<<4FL GG4EF<5, 

(6O?>?=OFL ?>4 =45?N45=<5< 

6D4G4, 6O?>?=<FL 

E4<>EF>OF5?L=>) 6 >F5=>5 

4=4F><>-DG=>F<>=4?L=>7> 

E>EF>O=<O >D74=>6 < E<EF5< 

>D74=<7<4 ?4F<5=F>6 E 

E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) 

E>EF>O=<O<<. 

 

�D<=<<4FL GG4EF<5, 

(6O?>?=OFL ?>4 =45?N45=<5< 

6D4G4, 6O?>?=<FL 

�D>5>F<D>64FL < 

>D74=<7>6O64FL GG55=GN 

45OF5?L=>EFL >5GG4NM<EEO, 

>EGM5EF6?OFL >>=FD>?L GG55=OE 

4>EF<65=<=  E <E?>?L7>64=<5< 

<==>64F<>==OE ED54EF6 >F5=>< 

7=4=<=. ('�-3) 

�D>6>4<FL 

?D>F<6>M?<45<<G5E><5 

<5D>?D<OF<O 6 E?GG45 

6>7=<>=>65=<O >G474 <=D5>F<<. 

(��-3) 

�?D545?OFL <54<F<=E><5 

?>>474=<O > 66545=<N 

>7D4=<G<F5?L=OE <5D>?D<OF<= 

(>4D4=F<=4) < <54<F<=E><5 

?>>474=<O 4?O =4?D46?5=<O > 

6D4GG-E?5F<4?<EFG 6 E?GG45 

<=D5>F<>==>7> (?4D47<F4D=>7> 

745>?564=<O) (��-3) 

�EGM5EF6?OFL E5>D 64?>5, 

4=4<=574 6<7=< < 745>?564=<O G 

?4F<5=F>6 (<E 74>>==OE 

?D54EF46<F5?5=) E 

E<DGD7<G5E><<< 745>?564=<O<< 

< (<?<) E>EF>O=<O<<. (��-5) 

�=F5D?D5F<D>64FL < 

4=4?<7<D>64FL ?>?GG5==GN 

<=D>D<4F<N >F ?4F<5=F>6 (<E 

74>>==OE ?D54EF46<F5?5=) E 

E<DGD7<G5E><<< 745>?564=<O<< 

< (<?<) E>EF>O=<O<<. (��-5) 

�F5=<64FL 4=4F><>-

DG=>F<>=4?L=>5 E>EF>O=<5 

>D74=>6 < E<EF5< >D74=<7<4 

?4F<5=F>6 E E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) 

E>EF>O=<O<<. (��-5) 

�=F5D?D5F<D>64FL < 

4=4?<7<D>64FL D57G?LF4FO 

>E<>FD>6 < >5E?54>64=<= 

?4F<5=F>6 E E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) 

E>EF>O=<O<<. (��-5) 

�OO6?OFL >?<=<G5E><5 

E<<?F><O < E<=4D><O G 

?4F<5=F>6 E E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) 

E>EF>O=<O<<. (��-5) 

$4E?>7=464FL E>EF>O=<O, 

FD55GNM<5 >>474=<O 

<54<F<=E>>= ?><>M< 6 



17 

 

E4<>EF>OF5?L=>) 6 

<=F5D?D5F4F<< < 4=4?<75 

D57G?LF4F>6 >E<>FD>6 < 

>5E?54>64=<= ?4F<5=F>6 E 

E<DGD7<G5E><<< 

745>?564=<O<< < (<?<) 

E>EF>O=<O<<. 

 

�D<=<<4FL GG4EF<5, 

(6O?>?=OFL ?>4 =45?N45=<5< 

6D4G4, 6O?>?=<FL 

E4<>EF>OF5?L=>) 6 6OO6?5=<< 

>?<=<G5E><E E<<?F><>6 < 

E<=4D><>6 G ?4F<5=F>6 E 

E<DGD7<G5E><<< 
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30 

 

10. �5D5G5=L GG55=>= ?<F5D4FGDO < D5EGDE>6 E5F< «�=F5D=5F», =5>5E>4<<OE 

4?O ?D>6545=<O ?D4>F<><. 

 

7 �5D5G5=L >E=>6=>= ?<F5D4FGDO 

1.  �5>, T. �<=<<4?L=><=647<6=4O 454><<=4?L=4O E<DGD7<O   / &. �5>, �. �5D<5D, �. 

,45G=<= [< 4D. ]. - �>E>64 : �-�&�$-�54<4, 2021. - 624 E. - ISBN 978-5-9704-6000-

9. - &5>EF : M?5>FD>==O= // -�% "�>=EG?LF4=F EFG45=F4" : [E4=F]. - URL : 

https://www.studentlibrary.ru/book/ISBN9785970460009.html 

 

2.  �4?56E>4O, %. �. -=4>E>>?<O 65?G4>G=>-><L5G=>7> FD4>F4 / %. �. �4?56E>4O, �. �. 

�>D>F>56<G. - 2-5 <74. , ?5D5D45. < 4>?. - �>E>64 : �-�&�$-�54<4, 2020. - 752 E. -

752 E. - ISBN 978-5-9704-5575-3. - &5>EF : M?5>FD>==O= // -�% "�>=EG?LF4=F 

EFG45=F4" : [E4=F]. - URL : 

https://www.studentlibrary.ru/book/ISBN9785970455753.html  

 

 

7  �5D5G5=L 4>?>?=<F5?L=>= ?<F5D4FGDO 

1.  �G=OFO=, �. �. �=5EF57<>?>7<O : =4F<>=4?L=>5 DG>>6>4EF6> : >D4F>>5 <744=<5 / ?>4 

D54. �. �. �G=OFO=4, �. �. �<7<>>64. - �>E>64 : �-�&�$-�54<4, 2020. - 656 E. -

656 E. - ISBN 978-5-9704-5709-2. - &5>EF : M?5>FD>==O= // -�% "�>=EG?LF4=F 

EFG45=F4" : [E4=F]. - URL : 

https://www.studentlibrary.ru/book/ISBN9785970457092.html 

2.  �O4O><=, %. %. %>6D5<5==O5 E<DGD7<G5E><5 <=EFDG<5=FO : E?D46>G=<>   / %. %. 

�O4O><=, �. �. �?<=>64, �. �. -5D5N> - �>E>64 : �-�&�$-�54<4, 2016. - 144 E. -

ISBN 978-5-9704-3742-1. - &5>EF : M?5>FD>==O= // -�% "�>=EG?LF4=F EFG45=F4" : 

[E4=F]. - URL : https://www.studentlibrary.ru/book/ISBN9785970437421.html 

3.  �5<5L>>, �. �. '?LFD476G>>64O 4<47=>EF<>4 745>?564=<= 65?G4>4   / �5<5L>> �. �. 

, �E<4=>64 �. �. - �>E>64 : �-�&�$-�54<4, 2021. - 88 E. - ISBN 978-5-9704-5944-7. 

- &5>EF : M?5>FD>==O= // -�% "�>=EG?LF4=F EFG45=F4" : [E4=F]. - URL : 

https://www.studentlibrary.ru/book/ISBN9785970459447.html  

4.  �<>>?456, �. �. &>?>7D4D<G5E>4O 4=4F><<O < >?5D4F<6=4O E<DGD7<O. � 2 F. &>< 2   / 

�<>>?456 �. �. - 2-5 <74. , <E?D. < 4>?. - �>E>64 : �-�&�$-�54<4, 2013. - 480 E. -
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>>474=<O <54<F<=E>>= ?><>M< ?4F<5=F4<, 6 F>< G<E?5 E6O74==O5 E <54<F<=E><<< 

6<5L4F5?LEF64<<, >E=4M5==O5 E?5F<4?<7<D>64==O< >5>DG4>64=<5< < (<?<) 

<54<F<=E><<< <745?<O<< (F>=><5FD, EF5F>E>>?, D>=5=4>E>>?, F5D<><5FD, <54<F<=E><5 

65EO, D>EF><5D, ?D>F<6>L>>>6O= =45>D, =45>D < G>?44>4 4?O M>EFD5==OE 

?D>D<?4>F<G5E><E < ?5G55=OE <5D>?D<OF<=, M?5>FD>>4D4<>7D4D, >5?GG4F5?L 

54>F5D<F<4=O=, 4??4D4F =4D>>7=>-4OE4F5?L=O=, 4??4D4F <E>GEEF65==>= 65=F<?OF<< 

?57><E, <=DG7><4F, >FE4EO64F5?L ?>E?5>?5D4F<>==O=, 45D<5D<??OF>D E DG=>F<5= 

E<=ED>=<74F<<, EF>? >?5D4F<>==O= E<DGD7<G5E><= <=>7>DG=>F<>=4?L=O= 
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G=<65DE4?L=O=, E<DGD7<G5E><=, <<>D>E<DGD7<G5E><= <=EFDG<5=F4D<=, G=<65DE4?L=4O 

E<EF5<4 D4=>D4EL<D<F5?5= E ?D<>D5??5=<5< > >?5D4F<>==><G EF>?G, 4??4D4F 4?O 

<>=<F>D<D>64=<O >E=>6=OE DG=>F<>=4?L=OE ?>>474F5?5=, 4=4?<74F>D 4OE4F5?L=>= 

E<5E<, M?5>FD>M=F5D4?>7D4D, 45D<5D<??OF>D E DG=>F<5= E<=ED>=<74F<<, 

=5=D>E<DGD7<G5E><= <=EFDG<5=F4D<=, 4??4D4FGD4 4?O >EF5>E<=F574, 4DFD>E>>?<G5E>>5 

>5>DG4>64=<5) < D4EE>4=O< <4F5D<4?>< 6 >>?<G5EF65, ?>76>?ONM5< >5GG4NM<<EO 

>E64<64FL G<5=<O < =46O><, ?D54GE<>FD5==O5 ?D>D5EE<>=4?L=>= 45OF5?L=>EFLN, 

<=4<6<4G4?L=>, 4 F4>65 <=>5 =5>5E>4<<>5 >5>DG4>64=<5 4?O D54?<74F<< ?D>7D4<<O 

>D4<=4FGDO. 

� E>>F65FEF6<< E 4>7>6>D4<< =4 ?D>6545=<5 ?D4>F<>< <564G G=<65DE<F5F>< < 

?D>D<?L=>= >D74=<74F<5=, >5GG4NM<5EO <>7GF ?>?L7>64FLEO D5EGDE4<< ?>4D4745?5=<= 

(?45>D4F>D<= < F.?.) 5<5?<>F5>>=, F5E=<G5E>>= < 4DG7>= 4>>G<5=F4F<5= ?D>D<?L=>= 

>D74=<74F<< < G=<65DE<F5F4 =5>5E>4<<O<< 4?O GE?5L=>7> >E6>5=<O >5GG4NM<<<EO 

?D>7D4<<O ?D4>F<>< < 6O?>?=5=<O <<< <=4<6<4G4?L=OE 7444=<= =4 ?D4>F<>G. 'G55=O5 

4G4<F>D<< G=<65DE<F5F4 4?O E4<>EF>OF5?L=OE 74=OF<= >E=4M5=O >><?LNF5D=>= F5E=<>>= 

E 6>7<>6=>EFLN ?>4>?NG5=<O > E5F< �=F5D=5F < 4>EFG?>< > M?5>FD>==>= 

<=D>D<4F<>==>->5D47>64F5?L=>= ED545 $���' �� «'G64LE><= 7>EG44DEF65==O= 

G=<65DE<F5F <<5=< �.�. '?LO=>64».   


